(0Z0Z @p 012193} Bp (T |9 SuLIojuI IW BSESA)
0€5—¥1 'S'V'S 3pny Bunoy g 3suig Jod epeubiseq
1-61¥€L 1 Jeuoisajoid eyelie}
|eosi4 J0SInaYy
OUB|O\ Bulj0Je) BYUIA

~

1-2vez/) leyoisajold elie)
021|q1)/d 10pEII0D
ebenpunpy spuo) [y oloeub)

|ebaT sjuejuasaiday
zanbupoy ewinyy |ebuy |anbipy

A3

'S0J8JoURUY SOPER)SO SO)JS8 ap sjueibajul sped uos sejunipe sejou se7

LeSlLt'vL 3 - $ eve'elv's $ 60L'G¥8°Lp $ STTYYLO $ 8YO'YS9'9L ¢ 610Z 2P 21quIBIdIp 3p LE |e opjes
eveeLr'e = eve'cly's = - - ] OuUE [9p O}SU SJUSPaOXT]
- (62°29%°2) = £6.L°L9V°T = - SS)USpaIXe Op UQINJS(g
= 29¢°'580°L (zog's80L) = = = S9jUSPaOXad ap Ope|Sel )
286'¢veLL Ley'zee’L 29£'G80°L 916°,.28'SY S2T'vyvl'9 8%0'¥59'91 810C 3p 3aiquialdip 3ap ¢ |e opjes
29€'680°L = 29¢'680°L = - - OUE |9p O}SU 2juUBpadX]
= (95%'789'9) ~ 95t'¥89'9 - - S8)USPROXD Bp UQIONIB(
- /88'990'8 (288'990'8) = — - S9}USPaIXa 9p Ope|Sel |
0c985L0L ¢ - $ /88'990°8 $ 09v'€69'8c $ STTYYL'Q $¢ 8¥O'PS9'9L $  L10Z °p 21quwildip ap L¢ |e opjes
o1 SBAI9SaY ouy |ep sopejnwnoy lenden |e1dos
sajuapedxy sajuapooaxy ap JAesadng opuo4

oluowiijed |2 ua soique?) ap sopejsy

pnjesiadng opejibip

edJeweulpun) - "9 q ejobog

6 —888°510°098 N

|oejey ues eojul|) ouelisiaAluf |e3ldsoH



